Efficiency vs P,

= 0.4
o

2 0.09
>

20.08
o

0.07
0.06
0.05
0.04
0.03
0.02
0.01

0
1.2

................................................

................................................

e

................................................

............................................

Ratio

107 1 10 prT (Ge\})o3

—— DQM_V0001_R000000001__Global_CMSSW_ckinocut3_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mknocut3_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mknocutinoclean3_RECO

= 0.1
4
Z0.09
$0.08
(8]
£0.07
©
0.06
0.05]
0.04
0.03
0.02
0.0

Ratio
P
a1

TP N

Efficiency vs ¢

=0.051
o F
Q.045 ;
2 ]
90-04 ;
o .
).035F
o :




	Contents
	Page 1


